Nimi:

Logaritmuorratused

Ara unusta madramispiirkonda!

1. Lahenda vorratus.

1)
2)

log;(3x —2) >0
logi(6 —x) = -2
3

logs(3x + 1) > logs(x — 2)
log1(1 — 3x) <log1(2 + x)
5 5

log, 4,(3x —2) —log, 4,56 <log,40,5—1og,,7
logg3(x —10) —logy3(2 — x) > log 5 4
logs(x?+ 3) —logs(x2—1) > 1

loggs(x? — 1) —loggs(x?+2) > 1

logg o1 (x? — 2x — 1) < logggq x +10gg o1 (x + 1)

10)logy g1 (x% — 2x — 1) < log o1 x + logy o1 (x + 1)

klass

Vastused: x > 1; —3<x<6;x >2;x € (—2;—-0,25];x € (g, 2);

@;x €[-vV2;-1)u(1,V2];x € (-2,-1) U (1;2);8;x € E 1) U (1; o0)

Lahenda vorratus.

(2x + 1) logg,2 —5logp,2 >0

log2(1 + x) = 4log;(1 + x) — logz 27
2logs(x —5) — 7log,(x —5) +log,8<0
logylog s(x — 1) <1

logz logys(2x +1) > 0

Vastused: x < 2;x € (—1; 2] U [26;); x € [5 +/2; 13];

x € (1;6);x € (—0,5,—0,25)



